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' [Instructions for Candidates B3

1. Write your Roll No. on the top immediéte_ly on‘-receipt
of this question paper.

2. The question paper is divided into two sections.

3. Attempt any five questions, Sellecting‘ three . from
Section A and two from Section B.

4. Simple calculator is permissible.

5. Answers may be written either in English or Hindi;,
* but the same medium should be used throughout the

| paper,
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SECTION A

1. (a) Discuss the concept of externality with suitable
examples. Under what circumstances, is foo much
of a good and too little of a good produced relative
to the socially efficient output? (2+6)

(b) Explain how Pigouvian tax and P1gouvian subsidy

schemes help in bringing about a socially efficient
output? | ()
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2.

(a) What arc the major fiscal functions of the state?
‘These functions overlap in practice.’ Do you
agree with this statement? (7)

(b) “Even if competitive market allocates resources
efficiently still there is a need for government for
fair distribution aspects. » Explain this statement

in the context of second fundamental theorem of

welfare economics. . d " (8)

(a) Wlth the help of general equ111br1um analysis discuss
" the condition that must ex1st for Pareto optlmahty'
to be attamed in'the prov1s1on of pubhc and pnvate
goods together Exp1a1n w1th the help of
approprlate d1agram e ST 8)

(b) Show that it does not matter whether the -tax is
imposed on the buyer or on the seller the burden

of the tax will be invariant. iwn o (D

j

"(a) Explam Fll‘St fundamental//theorem of welfare

economics. A el o ()

N

(b) Define the concept of incidence. Differentiate

between statutory 1nc1dence and economics
incidence. , K , (8)

P.T.O..
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S. Short Notes : (7.5%2)

(a) Pareto optimality with the help of an Edgeworth
Box diagram.

(b) Market Failure in the absence of competition
SECTION B

6. (a) Distinguish between the Horizontal and Vertical
' devolution of finance. Brieﬂy discuss the ‘Need-
based critenon and ‘Performanee-based criterion’

for the devolutlon of flnances wy (9

(b) What are. the maJ or recommendations of the FRBM
review eommlttee‘? . i ~ (6)

A /(a) What are the major concerns W1th respect to
GST? HETTRRE L » (8)

(b) Brleﬂy discuss the lmportant tools that a central

bank can use to control the money supply in the
economy, v e ' (7

8. {a) Discuss the rieed and ways for redefining the fiscal

architecture of India to strengthen the fiscal
- federalism, - (8)
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- (b) Does dilfect funding to local bodjeg wii] enhance

rural infrastructure? Analyse

(7
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